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Answer all questions in the spaces provided.

1

2

3

Which of these numbers is one more than a multiple of 5?

Circle your answer.

[1 mark]
SxS11
15 19 @ 30
Which of these numbers has exactly three factors?
Circle your answer.
[1 mark]
3 @ 5 6
' '5 l L} L" I,s \‘b
2,2 2,3
Which of these numbers is 6 less than —1.4? -1-L-6
Circle your answer.
[1 mark]
-8.4 -7.4 -2.0 4.6
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4

Which shape is congruent to shape X?

Circle the correct letter.

[1 mark]
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5

The map shows the positions of two ships, A and B.

Scale: 1 cm represents 2.5 km

A e P

( ; A j\\)

p d
[ )
R

~
\\ 2‘7
“\/’V\—w//'\>/
eB

Work out the actual distance between the ships.

$-5x 2.5

[2 marks]

Answer Q | Sl S

km
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A gym has 275 members.

40% are bronze members. = ZJISxO'LI- ¢ | IO
28% are silver members. )Gy (. 1§ = 3 F

The rest are gold members.

Work out the number of gold members.

(10433 =182 275-13"

[3 marks]

Answer 8 g

Turn over for the next question
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7 (a) Alanislooking at number machine problems.

+ 3

v
|
&)}

He says,

“If I know y | can work out x.
| subtract 3 then | add 5.”

Does this method work?

Give a reason for your answer.

[1 mark]
A@(s Y= X4 Y-5
3+5—3 = 2C  oC =\j"2
7 (b)
x 3 » +5
He says,
“If I know d | can work out c.
| divide by 3, then subtract 5.”
Does this method work?
Give a reason for your answer.
[1 mark]

d: 3c+5 n0 he_nesds Yo - Sfust

d_’__S:C,
3
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8 (a) Solve 5w—-11=24
411 4| [2 marks]

S35 et
5 5

8 (b)  Write an expression for the total cost, in pounds, of

x jumpers at £15 each

and
y shirts at £12 each.
[1 mark]
D & \’Qt3
Answer \5% + [’Zd
8 (c) Simplify x+tx+tyxy

[1 mark]

Jdoc  y*

v,

Answer Q'x_ -+ :jl
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9 Lucy says,

“3is odd and 2 is even,
so when you add a multiple of 3 to a multiple of 2 the answer is always odd.”

Is she correct?

Write down a calculation to support your answer.

of b <6 b +4= 10 uhwoh weven
wam{W.O{Z: Ly SCJLu«cdlsu\/cOmS/cK

[1 mark]

10 Tom earns £9.20 per hour.

He works for

24 hours each week
48 weeks each year.

He pays tax if he earns more than £10 000 per year.

Does Tom pay tax?

You must show your working.
[2 marks]

Ll x 920 = 220 ¥
¥ 4k

= lO]SqKLl—C)
ktja.s Tcmpsz tox
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11 Three boxes contain counters.

Box A Box B Box C

There are 62 counters in total.
The total number of counters in box A and box B is 34

The difference between the number of counters in box A and box C is 9

Work out the number of counters in each box.
[3 marks]

G+b=3L
C-o =9
Grh+c =62 & So c:- 28

S
23-9 = o 3L-1a 0%
19 =0 b =15 -sL/z‘/

soxa 19 BoxB 1D BoxC 2%

Turn over for the next question
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12 The pie chart shows information about the sales of 800 tickets.

There were twice as many adult ticket sales as senior ticket sales.

Ticket sales

Not drawn
accurately

Senior

63

3@0-[?[ - 189
18G<3 < 63

12 (a) Show that there were 140 senior ticket sales.

63 x 300
20 - 140

[3 marks]
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11

12 (b) Draw a bar chart on the grid to represent the child, adult and senior ticket sales.
[4 marks]
Seruor = 1LO
adut = 280
Ticket sales
d”'y“) o o)
)‘\S
|
300 -
"
y 4 ,w
1
Y
200 /
/ {
7 |
|
V4 |
) 4 |
/
l'
100 ; 7 7
/ r 4
/ i y,
{ | V.4
| B, P4
|
|
p 4 |
hd |
chud  adulS  Seavor
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13 Alice makes cards.
Each card uses 42 cm of ribbon.
She has 1000 cm of ribbon.

13 (a) Work out the maximum number of cards she can make.

[2 marks]
Answer 2-3
13 (b) How much ribbon will be left over?
[1 mark]

93 L2 aLb tO00 -Ak6

Answer 3 L[" km
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ﬂ( )pCOl/‘S <
14 Luke saves 10p coins and 20p coins. no Op

He has @/ 2

three times as many 10p coins as 20p coins
a total of £17

How many 10p coins does he have?

2% \ O + 0% = \200
A0 + 202 = \XOO

[3 marks]

x = (_'ﬁ@
SO
- 3L
SXSLF = \02 \()pCCLM £ 10-20
3L 20p cons L§0
P con = /
Answer \O?_

Turn over for the next question
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15 A company has bikes for hire.
The cost, £C, to hire a bike for n days is given by the formula

C=12+ %(n—’l)

15 (@) Write down the cost to hire a bike for 1 day.

C=12 +%f6
(L

Answer £

15 (b)

Special offer

Hire a bike for £9 per day

Is it cheaper to hire a bike for 7 days using the special offer?

You must show your working.

3,0 £63

C:124 2%[3L) = £52.50
(4

(\0 l}(SY\d(C)/\.LGu(lU

[1 mark]

[2 marks]
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15 (¢) The graph shows the cost to hire a bike for one to five days at a different company.

A

40 z

30 ‘

Cost, 7
£C -
20 LN
10 aa
0 >

0 1 2 3 4 5

Number of days, n

The cost, £C, to hire a bike for n days using this company is given by the formula

C=a+bn-1)
Work out the values of ¢ and b.
Ufe\ll\n.’l Q=Q"D@ - 0\=q

n=2 13:=Q4b(xl)
b=%

[3 marks]
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16

A company’s logo

is a pentagon — SSldJl/’

has exactly one line of symmetry

has sides with whole number lengths

has a perimeter of 15 cm

Draw a sketch of a possible logo.

Label each side with its length.

[2 marks]
Heare owe. sevesad soluhonsho Hhwn .. iz 1§ ot digaon to
Scods !
V T
2 2
Acmn




17

17 Mr Jones works for five days each week.

If he uses his car to travel to work,
each day he drive a total distance of 24.2 miles
his car travels 32.3 miles per gallon of petrol
petrol costs £1.27 per litre.

If he uses the bus to travel to work, he can buy a weekly ticket for £19.50
Use 1 gallon = 4.5 litres

Is it cheaper if he uses his car or the bus to travel to work?
You must show your working.

A2 %S = 12U mileo b werk
=32.% = 3-ALL13 Saumso\w@k
\ %oJ\lm: G- Slureo

W .
Y 3406 = | 6:BSAS. - Lkves

[5 marks]

(€86
x £12x = Bl

& isduam Vokw/dkﬂ Lus

Answer BUS
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18 Here are two number machines, A and B.

Input

A DsT 4
o

B

Both machines have the same input.

Work out the input that makes

the output of A three times the output of B.

I
A4

f Ax - L4 A =38
6 =) Boc 4L

N

Ae-L = 32 r2)

[4 marks]

= Qx + 6
-0 = 27C
oc =-S5

Answer - 5

Version 1.0
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19 Josef runs 400 metres in 1 minute.

He assumes he can run any distance at the same rate.
He says,

“I would run 10 000 metres in 25 minutes.”

Tick a box to show whether his time to run 10 000 metres is likely to be accurate.

No, the time will be longer

Yes, the time will be 25 minutes

No, the time will be shorter \/

Give working and a reason to support your answer.

[2 marks]
GOOD = ZSvwns
e could nok aos fogt vt \O000mulves
)
20 Which sequence is a geometric progression?
Circle your answer.
[1 mark]

1. 2 3 4 1.2 4 7

Turn over »
Version 10 8300/2F




20

21

This pyramid has a square base.

Volume of a pyramid = % x area of base x perpendicular height

Work out the volume of the pyramid.

[3 marks]
oreadobm : 119x12 &
olpne = Ly 12 9% 128 5 134
3
- 9LS5.11%
Answer q65-1% (QA{)) cm®




21

22

22 (a)

22 (b)

£={1,2,3,4,5,6,789 10, 11, 12}
S = square numbers [, & ,Q
E—evennumbers 1 L L% 10 (2

Complete the Venn diagram.

[3 marks]

g

S ]Slqll,

One of the numbers is chosen at random.

Write down P (S N E)

Answer

'./lL

[1 mark]
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23 A coin is rolled onto a grid of squares.
It lands randomly on the grid.

To win, the coin must land completely within one of the squares.

Meera and John each roll the coin a number of times and record their results.

Number of wins Number of losses
Meera 6 44 50
John 28 72 100

23 (a) Work out two different estimates for the probability of winning.

[2 marks]
L 18
50 (00
18 . lu
3 28 I
Answer SO and 0O So
23 (b) Which of your estimates is the better estimate for the probability of winning?
Give a reason for your answer.
[1 mark]

Answer ;TM
Reason '4 is G b"ﬁgjw

Version 1.0 8300/2F



23

24 In a sale, the original price of a bag was reduced by %

The sale price of the bag is £29.40

Work out the original price.

[3 marks]
[ J
Lz J : 8 0% + 2240
227 5 v T 03678
° b 100%: 345
Answer £ 3678
25 Which of these is not used to prove that triangles are congruent?
Circle your answer.

[1 mark]

SSS SAS @ RHS

Turn over for the next question
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26 E is the centre of rectangle ABCD.
Not drawn
accurately
D C
12 cm E
A 20 cm B
Work out the length DE.
[3 marks]
L L R
DA = 127420
v (44 + 400
: Sul TE*5 Db ~L«tl3y
2
Db - VAN
= 236G ¢ [1-LL1Y0335
Answer [ [ GQ cm
27 Circle the equation of a line that is parallelto y =5x —2

[1 mark]

1
y=2x-5 y=3x-2 y:—gx—Z
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28 At a school
number of boys : number of girls =9 : 7
There are 116 more boys than girls.

Work out the total number of students at the school.

[3 marks]
§:G
G : 7
A
16 mare.
1162 = SR & [pat
Ax88: A=Y
322 : 406
Totold : 522+ 406
Answer qQ%
29 Circle the equation with roots 4 and -8
[1 mark]
xx-8)=0
o= L‘_ 22C = - 8
x¥¥-32=0 (x+4)(x-8)=0
X:z-l4 =8
xZ: 37_
oc X3
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30 A pattern is made from two similar trapeziums.
Not drawn
accurately
18 cm
4 cm
. 5
25¢cm
<— 10cm ———>
Show that the shaded area is 294 cm?
[4 marks]
Tapeziom = | [18+10) 25 = L 28,45 = 350
=z 2

U Seadsfoda < 2-5
orth scals Paotor = 9-4%
wnshaded ata < 350 = 2-5* = 56 om”

Oncded wea « 350-56 = 2 eml GS req urtg

END OF QUESTIONS
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